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1. A two-dimensional flow field is

represented by f = -2xy x. The

value of the velocity V at point

( , )1 2 is

(A) 21 2/

(B) 31 2/

(C) 51 2/

(D) 131 2/

2. Chezy’s formula is given by

(A) V C mi=

(B) V C m i= 2

(C) V C mi= 2 2

(D) V C m i= 2 2

3. The equation of motion for

laminar flow of a real fluid is

known as

(A) Euler’s equation

(B) Bernoulli’s equation

(C) Navier-Stokes equation

(D) Hagen-Poiseuille equation

4. Which statement is correct

about flow in open channel at

critical depth?

(A) The discharge is minimum

for a given specific energy.

(B) The discharge is maximum

for a given specific energy.

(C) The discharge is minimum

for a given specific force.

(D) The discharge is maximum

for a given specific force.

5. If a tank discharges water from

an orifice under variable head h,

the water surface will be lowered

at constant velocity, then the

surface area of the tank varies

as

(A) h1 2/

(B) 1/h1 2/

(C) h

(D) 1/h

6. Which of the following is a

dimensionless number?

(A) Manning’s coefficient

(B) Hazen-Williams coefficient

(C) Chezy’s coefficient

(D) Pipe friction factor

7. A fast centrifugal pump impeller

will have

(A) forward facing blades

(B) radial blades

(C) backward facing blades

(D) propeller-type blades

8. The specific speed of a pump

has the dimensions of

(A) M L T0 3 4 3 2/ /-

(B) M L T0 0 0

(C) M L T- -1 2 1 2 1 4/ / /

(D) M L T0 3 4 1 2/ /-
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1. EH$ {¤-Am`m_r ‡dmh joÃ H$m g_rH$aU

f = -2xy x h°ü& q~Xw ( , )1 2 na doJ V H$m

_mZ h°

(A) 21 2/

(B) 31 2/

(C) 51 2/

(D) 131 2/

2. MoµOr H$m g_rH$aU {H$ggo {X`m J`m h°?

(A) V C mi=

(B) V C m i= 2

(C) V C mi= 2 2

(D) V C m i= 2 2

3. {H$gr dmÒV{dH$ –d Ho$ b°{_Za ‡dmh Ho$ {bE

J{V H$m g_rH$aU H$hbmVm h°

(A) `yba H$m g_rH$aU

(B) ~aZm°br g_rH$aU

(C) Zo{dEa-ÒQ>moäg g_rH$aU

(D) hoJZ-nmoBOwBb g_rH$aU

4. Iwbo M°Zb _| H´$mß{VH$ JhamB© na ‡dmh Ho$ ~mao

_| H$m°Z-gm H$WZ ghr h°?

(A) Xr JB© {H$gr {d{eÔ> D$Om© Ho$ {bE

{Zd©hZ ({S>ÒMmO©) ›`yZV_ h°ü&

(B) Xr JB© {H$gr {d{eÔ> D$Om© Ho$ {bE

{Zd©hZ ({S>ÒMmO©) A{YH$V_ h°ü&

(C) {XE J`o {H$gr {d{eÔ> ~b Ho$ {bE

{Zd©hZ ({S>ÒMmO©) ›`yZV_ h°ü&

(D) {XE J`o {H$gr {d{eÔ> ~b Ho$ {bE

{Zd©hZ ({S>ÒMmO©) A{YH$V_ h°ü&

5. `{X {H$gr Q>¢H$ _| d°[aE~b hoS> h Ho$ VhV EH$

{N>– go nmZr {ZH$bVm h°, nmZr H$s gVh

{ZaßVa doJ go ZrMo {JaoJr, `{X Q>¢H$ H$s gVh

H$m joÃ\$b ~XbVm h°

(A) h1 2/

(B) 1/h1 2/

(C) h

(D) 1/h

6. {ZÂZ{b{IV _| go H$m°Z-gr EH$ {d_m

(S>m`_|eZ) a{hV gßª`m h°?

(A) _°qZJ JwUmßH$

(B) hoµOoZ-{d{b`Âg JwUmßH$

(C) MoãOr JwUmßH$

(D) nmBn Kf©U H$maH$ (\°$äQ>a)

7. EH$ VoµO H|$–À`mJr (go›Q¥>r‚`yJb) nÂn Ho$

BÂnoba Ho$ „boS> hm|Jo

(A) AmJo H$s Amoa _wI dmbo „boS>

(B) ao{S>`b „boS>

(C) nrN>o H$s Amoa _wI dmbo „boS>

(D) ‡monoba Q>mBn (T>ßJ) Ho$ „boS>

8. EH$ nßn H$s {d{eÔ> J{V H$s {d_m hmoVr h°

(A) M L T0 3 4 3 2/ /-

(B) M L T0 0 0

(C) M L T- -1 2 1 2 1 4/ / /

(D) M L T0 3 4 1 2/ /-
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9. If two pumps identical in all

respects and each capable of

delivering a discharge Q against

a head H are connected in

series, the resulting discharge is

(A) 2Q against a head 2H

(B) 2Q against a head H

(C) Q against a head 2H

(D) Q1 2/ against a head 2H

10. Which of the following pairs are

correctly matched?

1. Standard penetration test :

In-situ parameters of the

soil

2. Vane shear test : Cohesion

3. Consolidation test : Bearing

capacity

Select the correct answer using

the codes given below.

(A) 1 only

(B) 1 and 2 only

(C) 2 and 3 only

(D) 1, 2 and 3

11. In which of the following pairs of

soil types would one anticipate

negative pore pressure, when

subjected to shearing?

(A) Normally consolidated clay

and dense sand

(B) Overconsolidated clay and

loose sand

(C) Loose clay and over-

consolidated clay

(D) Dense sand and over-

consolidated clay

12. The ultimate strength of the

material is determined by the

stresses in

(A) horizontal plane

(B) minor principal plane

(C) major principal plane

(D) potential failure plane

13. Permanent wilting point is

(A) a characteristic of a plant

(B) a soil characteristic

(C) a soil characteristic

modified by the crop

(D) dependent on soil-water-

plant-fertilizer interaction

14. Application efficiency of

irrigation is best defined as the

ratio of

(A) water for normal consump-

tive requirement to water

depleted from the root zone

(B) water actually stored in the

root zone to the water

delivered to the farm

(C) water reaching the farm to

water released from the

head works

(D) water actually delivered to

the farm to water actually

reaching the farm
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9. `{X Xmo nßn g^r ‡H$ma go g_mZ h¢ Am°a ‡À`oH$

nßn hoS> H Ho$ {dÈ’ {S>ÒMmO© Q XoZo _| gj_

h°, XmoZm| nßn ˚mß•Ibm _| OwãS>o h˛E h¢, Vmo n[aUm_r

{S>ÒMmO© hmoJm

(A) hoS> 2H Ho$ {dÈ’ 2Q

(B) hoS> H Ho$ {dÈ’ 2Q

(C) hoS> 2H Ho$ {dÈ’ Q

(D) hoS> 2H Ho$ {dÈ’ Q1 2/

10. {ZÂZ{b{IV _| go H$m°Z-gm OmoãS>m ghr

gw_o{bV h°?

1. _mZH$ n¢R> narjU—{_≈>r Ho$ BZ-grQy>

n°am_rQ>a

2. doZ AnÍ$nU narjU—gm_ßOÒ`

(H$mohogZ)

3. g_oH$Z narjU—dhZ j_Vm

ZrMo {XE JE Hy$Q> H$m Cn`moJ H$aHo$ ghr CŒma

Mw{ZEü&

(A) Ho$db 1

(B) Ho$db 1 Am°a 2

(C) Ho$db 2 Am°a 3

(D) 1, 2 Am°a 3

11. {ZÂZ{b{IV _| go {H$g ‡H$ma H$s {_≈>r

_| AnÍ$nU Ho$ VhV F$UmÀ_H$ (ZoJo{Q>d) a›Y´

X~md H$s Amem H$s Om gH$Vr h°?

(A) Am_Vm°a na g_o{H$V äbo {_≈>r Am°a KZr

aoV

(B) A{YH$ O_r h˛B© äbo {_≈>r Am°a T>rbr aoV

(C) T>rbr Am°a AÀ`{YH$ O_r h˛B© {MH$Zr>

(äbo) {_≈>r

(D) KZr aoV Am°a AÀ`{YH$ O_r h˛B© {MH$Zr

(äbo) {_≈>r

12. nXmW© H$s na_ e{∫$ Cg_| _m°OyX VZmd go

{ZÂZ{b{IV _| go {H$g Vb _| {ZYm©[aV

hmoVr h°?

(A) j°{VO Vb

(B) bKw ‡YmZ Vb

(C) XrK© ‡YmZ Vb

(D) gß^m{dV {d\$bVm Vb

13. nm°Yo Ho$ {bE ÒWm`r Z_r q~Xw h°

(A) {H$gr nm°Yo H$s EH$ {deofVm

(B) {_≈>r H$s EH$ {deofVm

(C) \$gb ¤mam gßemo{YV {_≈>r H$s EH$

{deofVm

(D) {_≈>r-nmZr-nm°Yo-Cd©aH$ AßVJ´©hU na

{Z^©a

14. qgMmB© H$s AZw‡`moJ XjVm H$mo g~go A¿N>r

Vah {H$ZHo$ AZwnmV Ho$ Í$n _| n[a^m{fV {H$`m

J`m h°?

(A) gm_m›` Cn^moJ H$s AmdÌ`H$Vm Ho$ {bE

nmZr go OãS> joÃ go òÀ_ hmo J`m nmZr

(B) OãS> joÃ _| dmÒV{dH$ gß{MV nmZr go

IoV VH$ nh˛±Mm`m J`m nmZr

(C) IoV VH$ nh˛±M aho nmZr go hoS> däg© go

{ZH$bm nmZr

(D) dmÒVd _| IoV Ho$ {bE ‡o{fV nmZr go

dmÒVd _| IoV VH$ nh˛±M ahm nmZr
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15. In a well-drained soil, the useful

moisture for plant growth

essentially comes from

(A) water of adhesion

(B) hygroscopic water

(C) gravitational water

(D) capillary water

16. For the irrigation of a crop, the

base period B in days and delta

( )D in meters are related to the

duty D in ha/( / )m s3 at the field

as

(A) D B= ×[ / ]0 864 D

(B) D B= ×[ / ]8 64 D

(C) D B= ×[ / ]0 864 D

(D) D = ×[ / ]8 64 D B

17. Which of the statements given

below is not correct?

In a trickle irrigation system

(A) the evapotranspiration is

practically eliminated

(B) deep percolation and runoff

are practically eliminated

(C) water application efficiency

is very high

(D) the fertilizer can be applied

economically along with the

irrigation water

18. The maximum application rate

by sprinklers is limited by

(A) the prevailing wind velocity

(B) the prevailing humidity and

radiation

(C) the infiltration capacity of

the soil

(D) quantity of water available

19. Which formula will be used

in designing a concrete lined

irrigation channel?

(A) Lacey’s formula

(B) Manning’s formula

(C) Continuity equation

(D) Kennedy’s formula

20. The average moisture extraction

of plants from the first 25%

(near the earth surface) of the

soil depth is

(A) 35%

(B) 40%

(C) 45%

(D) 50%
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15. A¿N>r Ob-{ZH$mgr dmbr {_≈>r _|, nm°Ym| H$s

d•{’ Ho$ {bE Cn`moJr Ob A{Zdm`© Í$n go

AmVm h°

(A) {_≈>r go {MnHo$ h˛E Ob go

(B) hmBJ´moÒH$mo{nH$ Ob go

(C) JwÈÀdmH$f©U Ob go

(D) Ho${eH$m Ob go

16. {H$gr \$gb H$s qgMmB© Ho$ {bE, _yb Ad{Y

B {XZm| _| Am°a S>oÎQ>m ( )D _rQ>a _|, IoV H$s

S>ÁyQ>r D go ha/( / )m s3 _|, {H$g T>ßJ go

gß~ß{YV h°?

(A) D B= ×[ / ]0 864 D

(B) D B= ×[ / ]8 64 D

(C) D B= ×[ / ]0 864 D

(D) D = ×[ / ]8 64 D B

17. {ZÂZ{b{IV _oß go H$m°Z-gm H$WZ ghr Zht h°?

{Q¥>H$b qgMmB© ‡Umbr _|

(A) dmÓnrH$aU-CÀgO©Z Ï`mdhm[aH$ Í$n go

g_m· hmo OmVm h°

(B) Jhao [agmd Am°a Andmh H$mo Ï`mdhm[aH$

Í$n go g_m· H$a {X`m OmVm h°

(C) Ob AZw‡`moJ XjVm ~h˛V A{YH$

hmoVr h°

(D) Cd©aH$ H$mo qgMmB© Ho$ nmZr Ho$ gmW

{_VÏ`{`Vm go ‡`w∫$ {H$`m Om gH$Vm h°

18. pÒ‡®H≤$ba ¤mam A{YH$V_ AZw‡`moJ Xa {H$g

na gr{_V hmoVr h°?

(A) {d⁄_mZ hdm H$m doJ

(B) {d⁄_mZ Am–©Vm Am°a ‡H$me

(C) {_≈>r H$s AßVÖÒ`ßXZ j_Vm

(D) Cnb„Y Ob H$s _mÃm

19. Hß$H´$sQ> bmBZ dmbr qgMmB© M°Zb H$mo {S>OmBZ

H$aZo _| {H$g \$m_©ybo H$m Cn`moJ {H$`m OmEJm?

(A) bogr \$m_©ybm

(B) _°qZJ \$m_©ybm

(C) gmßVÀ` g_rH$aU

(D) H°$ZoS>r \$m_©ybm

20. {_≈>r H$s nhbr 25% JhamB© _| (n•œdr H$s

gVh Ho$ nmg) go nm°Ym| ¤mam Am°gV Z_r

{ZÓH$f©U h°

(A) 35%

(B) 40%

(C) 45%

(D) 50%
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21. For pumping sewage water, the

most suitable type of impeller is

(A) open impeller

(B) closed impeller

(C) semi-open impeller

(D) non-clog impeller

22. A salt concentration of

3200 ppm in a sample of water

is equivalent to the electrical

conductivity in millimhos/cm

of value

(A) 20

(B) 5

(C) 3·2

(D) 0·032

23. A soil sample was found to have

ESP= 20%, pH = ×7 5 and EC =

6 mmhos/cm. This soil is called

as

(A) saline soil

(B) saline-alkali soil

(C) alkali soil

(D) acidic soil

24. Dupuit-Forchheimer assump-

tions are used under

(A) steady-state condition

(B) unsteady-state condition

(C) steady and unsteady

conditions

(D) Not applicable

25. Which drainage system is used

for draining of small scattered

depressions?

(A) Parallel drainage system

(B) Random drainage system

(C) Bedding drainage system

(D) Parallel open ditch system

26. Gypsum is used for reclaiming

(A) saline soil

(B) alkali soil

(C) acid soil

(D) black soil

27. The side slope of open ditches

constructed in sandy loam soil

is

(A) 1 : 1

(B) 1·5 : 1

(C) 2 : 1

(D) 3 : 1

28. A watershed of 1000 hectares is

discharging through a drain at

an average ratio of 5 3m s/ . The

drainage coefficient is

(A) 4·32 cm

(B) 3·6 cm

(C) 1·8 cm

(D) 0·18 cm
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21. grdoO Ob H$mo nßn H$aZo Ho$ {bE, g~go

Cn`w∫$ BÂnoba (‡o[aV H$aZo dmbm) H$m ‡H$ma

h°

(A) Iwbm BÂnoba

(B) ~ßX BÂnoba

(C) A’©-Iwbm BÂnoba

(D) J°a-AQ>H$md dmbm BÂnoba

22. nmZr Ho$ EH$ Z_yZo _| 3200 nr0nr0E_0

H$s bdU gmß–Vm h°ü& `h {ZÂZ{b{IV _| go

{H$g {d⁄wV≤ MmbH$Vm ({_br_mo/go0 _r0 _mZ

_|) Ho$ ~am~a h°?

(A) 20

(B) 5

(C) 3·2

(D) 0·032

23. {_≈>r Ho$ EH$ Z_yZo _| ESP= 20%,

pH = ×7 5 Am°a EC = 6 {_br_mo/go0_r0

nm`m J`mü& Bg {_≈>r H$mo H$hm OmVm h°

(A) bdUr` {_≈>r

(B) bdUr`-jmar` {_≈>r

(C) jmar` {_≈>r

(D) AÂbr` {_≈>r

24. Sw>fl`yQ>-µ\$moM©hmB_a _m›`VmAm| H$m Cn`moJ {H$g

pÒW{V Ho$ AßVJ©V {H$`m OmVm h°?

(A) pÒWa AdÒWm H$s pÒW{V

(B) ApÒWa AdÒWm H$s pÒW{V

(C) pÒWa VWm ApÒWa AdÒWm H$s pÒW{V

(D) bmJy Zht hmoVm

25. N>moQ>o {~Iao h˛E JS≤>T>m| go Ob H$s {ZH$mgr Ho$

{bE {H$g Ob-{ZH$mgr ‡Umbr H$m Cn`moJ

{H$`m OmVm h°?

(A) g_mZmßVa Ob-{ZH$mgr ‡Umbr

(B) `m—p¿N>H$ Ob-{ZH$mgr ‡Umbr

(C) gßÒVaU Ob-{ZH$mgr ‡Umbr

(D) g_mZmßVa Iwbr ImB© ‡Umbr

26. {Oflg_ H$m Cn`moJ {H$g {_≈>r H$mo gwYmaZo Ho$

{bE {H$`m OmVm h°?

(A) bdUr` {_≈>r

(B) jmar` {_≈>r

(C) AÂbr` {_≈>r

(D) H$mbr {_≈>r

27. ~bwB© Xmo_Q> {_≈>r _| {Z{_©V Iwbr ImB`m| H$m

nmú© T>bmZ hmoVm h°

(A) 1 : 1

(B) 1·5 : 1

(C) 2 : 1

(D) 3 : 1

28. 1000 hoäQ>o`a Ho$ EH$ dm∞Q>a-eoS> go

5 KZ _rQ>a ‡{V goHß$S> Ho$ Am°gV AZwnmV go

EH$ Zmbr Ho$ _m‹`_ go Ob {ZÓH$m{gV hmo ahm

h°ü& Ob-{ZH$mgr JwUmßH$ h°

(A) 4·32 go0 _r0

(B) 3·6 go0 _r0

(C) 1·8 go0 _r0

(D) 0·18 go0 _r0
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29. A geological formation which is

essentially impermeable for flow

of water even though it may

contain water in its pores is

called

(A) aquifer

(B) aquifuge

(C) aquitard

(D) aquiclude

30. Cavity well is most suitable

under which of the following

conditions?

(A) Aquifer with fine sand and

small thickness

(B) Aquifer with coarse sand

and small thickness

(C) Aquifer with coarse sand

and large thickness

(D) Aquifer with coarse sand

and hard covering layer

31. A stream that provides water to

the water table is termed as

(A) affluent

(B) influent

(C) ephemeral

(D) effluent

32. Which type of soil formation

has higher porosity?

(A) Shales

(B) Gravel

(C) Sand

(D) Clay

33. Which is the correct relationship

for coefficient of storage ( )S ?

(A) S b nw= +g a b( )

(B) S b nw= -g a b( )

(C) S b
n

w=
æ
è
ç

ö
ø
÷g

a
b

(D) S
n

w=
æ
è
ç

ö
ø
÷g

a
b

34. For unconfined aquifers, the

storage coefficient

(A) is essentially same as the

specific yield

(B) does not exist

(C) is essentially same as the

specific retention

(D) is essentially same as the

porosity

35. What is the P -A ratio?

(A) 50% size of gravel pack/

50% size of aquifer

(B) 10% size of gravel pack/

10% size of aquifer

(C) 10% size of gravel pack/

50% size of aquifer

(D) 10% size of gravel pack/

90% size of aquifer

36. The dimension of hydraulic

resistance is

(A) T

(B) LT -1

(C) L T/ -2

(D) Dimensionless
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29. EH$ ^yJ^u` gßaMZm, Omo nmZr Ho$ ‡dmh Ho$

{bE A{Zdm`© Í$n go A^o⁄ h°, ^bo hr CgHo$

{N>–m| _| nmZr hmo, H$mo H$hm OmVm h°

(A) Eo{π$\$a (Ob^•V)

(B) Eo{π$‚`yO

(C) Eo{π$Q>mS>©

(D) Eo{π$äbyS>

30. H°${dQ>r Hw$Am± {ZÂZ{b{IV _| go {H$g n[apÒW{V

_| g~go Cn`w∫$ h°?

(A) _hrZ aoV Am°a N>moQ>r _moQ>mB© dmbm

Eo{π$\$a (Ob^•V)

(B) _moQ>r aoV Am°a N>moQ>r _moQ>mB© dmbm Eo{π$\$a

(Ob^•V)

(C) _moQ>r aoV Am°a ~ãS>r _moQ>mB© dmbm Eo{π$\$a

(Ob^•V)

(D) _moQ>r aoV Am°a H$R>moa AmdaU naV dmbm

Eo{π$\$a (Ob^•V)

31. Ob-ÒVa H$mo nmZr Cnb„Y H$amZo dmbr Ymam

H$mo ä`m H$hm OmVm h°?

(A) ‡dmhr

(B) AßVÖ‡dmhr

(C) AÎnH$m{bH$

(D) ~{h ‡dmhr

32. {H$g ‡H$ma H$s {_≈>r H$s gßaMZm _| gaßY´Vm

A{YH$ hmoVr h°?

(A) e°b

(B) Hß$H$ãS>

(C) ~mby

(D) {MH$Zr {_≈>r

33. ^ßS>maU Ho$ JwUmßH$ (S) Ho$ {bE H$m°Z-gm ghr

gß~ßY h°?

(A) S b nw= +g a b( )

(B) S b nw= -g a b( )

(C) S b
n

w=
æ
è
ç

ö
ø
÷g

a
b

(D) S
n

w=
æ
è
ç

ö
ø
÷g

a
b

34. A‡{V~ß{YV Eo{π$\$g© (Ob^•Vm|) Ho$ {bE,

^ßS>maU JwUmßH$

(A) _ybVÖ {d{eÔ> n°Xmdma (`rÎS>) Ho$ g_mZ

hr h°

(B) H$m ApÒVÀd Zht h°

(C) _ybVÖ {d{eÔ> AdYmaU Ho$ g_mZ hr h°

(D) _ybVÖ gaßY´Vm Ho$ g_mZ hr h°

35. nr0-E0 AZwnmV ä`m h°?

(A) 50% ~Oar n°H$ H$m AmH$ma/50%

Eo{π$\$a (Ob^•V) H$m AmH$ma

(B) 10% ~Oar n°H$ H$m AmH$ma/10%

Eo{π$\$a (Ob^•V) H$m AmH$ma

(C) 10% ~Oar n°H$ H$m AmH$ma/50%

Eo{π$\$a (Ob^•V) H$m AmH$ma

(D) 10% ~Oar n°H$ H$m AmH$ma/90%

Eo{π$\$a (Ob^•V) H$m AmH$ma

36. hmBS¥>m∞{bH$ ‡{VamoY H$m Am`m_ h°

(A) T

(B) LT -1

(C) L T/ -2

(D) Am`m_a{hV
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37. The class III-type land is

(A) good for cultivation

(B) moderately good for

cultivation

(C) suitable for cultivation with

major conservation farming

practices

(D) unsuitable for cultivation

38. As per LUCC, soil depth range

‘very shallow’ proposed under

which land capability class?

(A) II

(B) III

(C) IV

(D) V

39. The shrinkage factor of an old

map is 24/25 and the RF is

1/2400, then the corrected scale

for the map is

(A) 1/2400

(B) 1/2500

(C) 1/600

(D) 1/60000

40. The fore bearing of line AB is

209°. The included angle ABC is

341°. The FB of line BC is

(A) 550°

(B) 330°

(C) 10°

(D) 190°

41. The three-point problem fails

when an instrument station lies

(A) on the great circle

(B) in any of the segments

formed by the great triangle

and great circle

(C) on the orthocentre of the

great triangle

(D) Both (B) and (C)

42. In chain surveying, per-

pendicular to a chain line is set

out by

(A) a theodolite

(B) a prismatic compass

(C) a clinometer

(D) an optical square

43. Pick out the incorrect

statement.

(A) Two contour lines intersect

in the case of a vertical cliff.

(B) A watershed crosses the

contour lines at right

angles.

(C) The direction of steepest

slope is along the longest

distance between the

contours.

(D) In the direct method of

contouring, the contours

are not interpolated.

44. The operation of revolving the

telescope in a horizontal plane

about its vertical axis is called

(A) swinging

(B) transiting

(C) face left

(D) face right
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37. dJ© III {H$g ‡H$ma H$s ^y{_ h°?

(A) IoVr Ho$ {bE A¿N>r

(B) IoVr Ho$ {bE _‹`_ Í$n go A¿N>r

(C) ‡_wI gßajU H•${f n’{V`m| Ho$ gmW

IoVr Ho$ {bE Cn`w∫$

(D) IoVr Ho$ {bE AZwn`w∫$

38. LUCC Ho$ AZwgma, {H$g ^y{_ j_Vm dJ© Ho$

AßVJ©V {_≈>r H$s JhamB© gr_m "~h˛V CWbr'

‡ÒVm{dV h°?

(A) II

(B) III

(C) IV

(D) V

39. EH$ nwamZo _mZ{MÃ H$m {gHw$ãS>Z µ\°$äQ>a (JwUH$)

24/25 h° Am°a Ama0 E\$0 (RF)

1/2400 h°, Vmo _mZ{MÃ Ho$ {bE gßemo{YV

n°_mZm h°

(A) 1/2400

(B) 1/2500

(C) 1/600

(D) 1/60000

40. aoIm AB H$m AJ´ {XH≤$_mZ 209° h°ü& em{_b

H$moU ABC, 341° h°ü& aoIm BC H$m AJ´

{XH≤$_mZ h°

(A) 550°

(B) 330°

(C) 10°

(D) 190°

41. H$moB© CnH$aU ÒQ>oeZ {H$g OJh na AdpÒWV

hmoVm h°, Vmo VrZ-gyÃr g_Ò`m {d\$b hmo

OmVr h°?

(A) {demb d•Œm

(B) {demb {ÃH$moU Am°a {demb d•Œm ¤mam

{Z{_©V H$moB© ^r IßS>

(C) {demb {Ã^wO H$m bß~Ho$›–

(D) XmoZm| (B) VWm (C)

42. Oar~ gd}jU (˚m•ßIbm_mnZ) _|, Oar~ aoIm

Ho$ bß~ {H$gHo$ ¤mam {ZYm©[aV {H$E OmVo h¢?

(A) {W`moS>mobmBQ>

(B) {‡¡_r` H$Ânmg

(C) päbZmo_rQ>a

(D) Am∞pflQ>H$b Òädm`a

43. µJbV H$WZ Mw{ZEü&

(A) EH$ D$‹dm©Ya M≈>mZ Ho$ _m_bo _| Xmo

H$›Qy>a aoImE± ‡{V¿N>oX H$aVr h¢ü&

(B) EH$ Ob{d^mOH$, H$›Qy>a aoImAm| H$mo

g_H$moU na H$mQ>Vm h°ü&

(C) Vrd´V_ T>bmZ H$s {Xem H$›Qy>a aoImAm|

Ho$ ~rM H$s g~go bÂ~r Xyar Ho$ AZw{Xe

hmoVr h°ü&

(D) H$›Qy>a aoImßH$Z H$s grYr {d{Y _|, H$›Qy>a

aoImAm| H$mo AßVd}{eV (~°R>m`m) Zht

{H$`m OmVm h°ü&

44. Xya~rZ H$mo j°{VO Vb _| CgHo$ D$‹dm©Ya Aj

Ho$ n[aVÖ n[aH´$_U H$aZo H$s {H´$`m H$hbmVr h°

(A) XmobZ

(B) Q¥>mß{gqQ>J

(C) ~m`m± \o$g

(D) Xm`m± \o$g
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45. In reciprocal levelling, the

error which is not completely

eliminated is due to

(A) curvature of earth

(B) refraction

(C) non-adjustment of line of

collimation

(D) parallax

46. Trough compass is used in

(A) compass surveying

(B) chain surveying

(C) plane-table surveying

(D) cross-staff surveying

47. Which type of greenhouse is

constructed on hilly terrain?

(A) Lean-to

(B) Uneven span

(C) Even span

(D) Ridge and furrow

48. Which of the following is not the

method to determine slope and

deflection?

(A) Double integration method

(B) Macaulay’s method

(C) Moment-area method

(D) Method of superposition

49. When a rectangular section of

a beam is subjected to shearing

force the ratio of maximum

shear stress to average shear

stress is

(A) 2·0

(B) 1·75

(C) 1·50

(D) 1·25

50. Mathematical relationship

between the Young’s modulus

( )E , Poisson’s ratio ( )m , and Bulk

modulus ( )K is

(A) E K= -3 1 2( )m

(B) 3 2E K= -( )m

(C) 3 1 2K E= -( )m

(D) 3 1 2m = -E K( )

51. When shear force at a point is

zero, then bending moment at

that point will be

(A) infinity

(B) zero

(C) maximum

(D) minimum

52. Bending moment at the centre of

simply supported beam with

uniformly distributed load is

(where w = uniformly distributed

load and l = span of beam)

(A) wl

(B) wl/2

(C) wl2 4/

(D) wl2 8/
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45. nmaÒn[aH$ g_VbZ _| Omo Ãw{Q> nyU©VÖ g_m·

Zht hmoVr, dh {H$gHo$ H$maU hmoVr h°?

(A) n•œdr H$s dH´$Vm

(B) AndV©Z

(C) g_aoIZ aoIm H$m g_m`moOZ Z hmoZm

(D) {dÒWmnZm^mg (bß~Z)

46. Q¥>\$ H$Ânmg H$m ‡`moJ {H$`m OmVm h°

(A) H$Ânmg gd}jU _|

(B) Oar~ gd}jU _|

(C) g_Vb _oO (flboZ Q>o~b) gd}jU _|

(D) H´$m∞g ÒQ>m\$ gd}jU _|

47. nhmãS>r ^y^mJ na {H$g ‡H$ma H$m J´rZhmCg

~Zm`m OmVm h°?

(A) brZ Qy>

(B) Ag_mZ Òn°Z

(C) g_mZ Òn°Z

(D) [aO Am°a Zmbr

48. T>bmZ Am°a {djonU H$mo {ZYm©[aV H$aZo Ho$ {bE

{ZÂZ{b{IV _| go H$m°Z-gr {d{Y Zht h°?

(A) Xmoham EH$sH$aU (Bß{Q>J´oeZ) {d{Y

(B) _°H$mbo H$s {d{Y

(C) AmKyU© (_mo_|Q>) joÃ\$b {d{Y

(D) gwnanmo{OeZ H$s {d{Y

49. O~ ~r_ Ho$ EH$ Am`VmH$ma IßS> H$mo AnÍ$nU

({e`a) ~b Ho$ AYrZ {H$`m OmVm h°, Vmo

A{YH$V_ AnÍ$nU VZmd Am°a Am°gV

AnÍ$nU VZmd H$m AZwnmV hmoVm h°

(A) 2·0

(B) 1·75

(C) 1·50

(D) 1·25

50. `ßJ _mnmßH$ ( )E , fldmgm| AZwnmV ( )m , Am°a

~ÎH$ _mnmßH$ ( )K Ho$ ~rM J{UVr` gß~ßY h°

(A) E K= -3 1 2( )m

(B) 3 2E K= -( )m

(C) 3 1 2K E= -( )m

(D) 3 1 2m = -E K( )

51. O~ {H$gr q~Xw na AnÍ$nU ~b ey›` h°, Vmo

Cg q~Xw na ~ßH$Z AmKyU© hmoJm

(A) AZßV

(B) ey›`

(C) A{YH$V_

(D) ›`yZV_

52. g_mZ Í$n go {dV[aV ^ma Ho$ gmW {gÂnbr

gnmoQ>}S> ~r_ Ho$ H|$– _| ~ßH$Z AmKyU© h°

(Ohm± w = g_mZ Í$n go {dV[aV ^ma VWm

l = ~r_ H$m Òn°Z)

(A) wl

(B) wl/2

(C) wl2 4/

(D) wl2 8/



25/AGS/M–2023–05/15-A 16

53. The World Meteorological

Organization (WMO) recom-

mends that the ideal

distribution of rain gauges in

flat region should be at the rate

of one station for

(A) 300 km2 to 600 km2

(B) 600 km2 to 900 km2

(C) 900 km2 to 1300 km2

(D) 100 km2 to 300 km2

54. Orographic precipitation occurs

due to air masses being lifted to

higher altitudes by

(A) the density difference of air

masses

(B) the presence of mountain

barriers

(C) extratropical cyclones

(D) a frontal action

55. If the maximum depth of a

30 years-10 h rainfall depth at

Patna is 300 mm, then the

30 years-8 h maximum rainfall

depth at the same place is

(A) less than 300 mm

(B) more than 300 mm

(C) equal to 300 mm

(D) Inadequate data to answer

56. Chemical that is found to be

most suitable as water

evaporation inhibitor is

(A) ethyl alcohol

(B) methyl alcohol

(C) cetyl alcohol

(D) butyl alcohol

57. The dilution method of stream

gauging is ideally suited for

measuring discharge in

(A) a large alluvial river

(B) flood flow in mountain

stream

(C) steady flow in a small

turbulent stream

(D) a stretch of a river having

heavy industrial pollution

loads

58. A 60% index of wetness in a

particular year reveals that

(A) rainfall surplus is about

60%

(B) rainfall deficiency is 40%

(C) of the total length of

record, 40% years are under

surplus water

(D) of the total length of record,

60% years are under water

stress

59. Which of the following

instruments is not connected

with stream flow measurement?

(A) Hygrometer

(B) Electromagnetic flow meter

(C) Sounding weight

(D) Echo-depth recorder
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53. {dú _m°g_-{dkmZ gßJR>Z (S>„Î`y0 E_0

Amo0) H$s {g\$m[ae Ho$ AZwgma g_Vb joÃ

_| dfm©_mnr H$m AmXe© {dVaU EH$ ÒQ>oeZ

H$s Xa go {H$VZo joÃ\$b _| hmoZm Mm{hE?

(A) 300 {H$0 _r0 2 go 600 {H$0 _r0 2

(B) 600 {H$0 _r0 2 go 900 {H$0 _r0 2

(C) 900 {H$0_r0 2 go 1300 {H$0_r0 2

(D) 100 {H$0 _r0 2 go 300 {H$0_r0 2

54. {H$g H$maU go dm`w Ho$ –Ï`_mZ H$mo A{YH$

D±$MmB© VH$ CR>m`o OmZo Ho$ H$maU nd©Vr` dfm©

hmoVr h°?

(A) dm`w –Ï`_mZ Ho$ KZÀd H$m AßVa

(B) nd©Vr` ~mYmAm| H$s CnpÒW{V

(C) A{VCÓUH${Q>~ßYr` MH´$dmV

(D) EH$ AJ´Jm_r {H´$`m

55. `{X nQ>Zm _| 30 df©–10 KßQ>o H$s A{YH$V_

dfm© H$s JhamB© 300 {_0_r0 h°, Vmo Cgr

ÒWmZ na 30 df©–8 KßQ>o H$s A{YH$V_ dfm©

H$s JhamB© hmoJr

(A) 300 {_0_r0 go H$_

(B) 300 {_0_r0 go A{YH$

(C) 300 {_0_r0 Ho$ ~am~a

(D) CŒma XoZo Ho$ {bE An`m©· S>oQ>m

56. dh agm`Z, Omo Ob dmÓnrH$aU AdamoYH$ Ho$

Í$n _| gdm©{YH$ Cn`w∫$ nm`m J`m h°, h°

(A) E{Wb AÎH$mohb

(B) {_WmBb AÎH$mohb

(C) goQ>mBb AÎH$mohb

(D) „`yQ>mBb AÎH$mohb

57. ÒQ¥>r_ JoqOJ Ho$ {bE nVbm H$aZo H$s {d{Y

go {S>ÒMmO© _mnZo Ho$ {bE AmXe© Í$n go

Cn`w∫$ h°

(A) EH$ ~ãS>r ObmoãT> ZXr

(B) nd©Vr` ObYmam _| ~mãT> H$m ‡dmh

(C) EH$ N>moQ>r-gr AemßV Ymam _| pÒWa

‡dmh

(D) ^mar Am°⁄mo{JH$ ‡XyfU ^ma dmbr ZXr

H$m EH$ \°$bmd

58. {H$gr {deof df© _| 60% JrbonZ H$m

gyMH$mßH$ ~VmVm h° {H$

(A) dfm© A{Yeof bJ^J 60% h°

(B) dfm© _| 40% H$s H$_r h°

(C) [aH$m∞S>© H$s Hw$b Ad{Y Ho$, 40% df©

A{Yeof Ob Ho$ AßVJ©V h¢

(D) [aH$m∞S>© H$s Hw$b Ad{Y Ho$, 60% df©

Ob VZmd Ho$ AßVJ©V h¢

59. {ZÂZ{b{IV _| go H$m°Z-gm CnH$aU Ymam

‡dmh _mn go OwãS>m Zht h°?

(A) hmBJ´mo_rQ>a

(B) {d⁄wV≤-MwÂ~H$s` ‡dmh _rQ>a

(C) ‹d›`mÀ_H$ ^ma

(D) BH$mo-S>oflW [aH$m∞S>©a
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60. Match List–I with List–II :

List—I List—II

a. Stream flow with

considerable

groundwater

flow throughout

the year

1. Intermittent

stream

b. Stream flow that

carries water

most of the year

but ceases to

flow occasionally

2. Perennial stream

c. Stream that

does not have

any base flow

contribution

3. Influent stream

d. Stream that

contributes to

groundwater

due to seepage

4. Ephemeral

stream

5. Effluent stream

Select the correct answer using

the codes given below.

(A) a b c d

2 5 3 4

(B) a b c d

5 4 1 3

(C) a b c d

3 4 5 2

(D) a b c d

2 1 4 3

61. Identify the correct statement.

(A) Fan-shaped catchments

give low-peak and narrow

hydrographs.

(B) Nearly semicircular shaped

catchments give high-peak

and narrow hydrographs.

(C) Elongated catchment

shapes give high-peak and

broad hydrograph.

(D) Elongated catchment

shapes give high-peak and

narrow hydrograph.

62. In India, a meteorological

subdivision is considered to be

affected by moderate drought if

it receives a total seasonal

rainfall which is

(A) less than 25% of normal

value

(B) between 25% and 49% of

normal value

(C) between 50% and 74% of

normal value

(D) between 75% and 99% of

normal value

63. The recession limb of a flood

hydrograph can be expressed

with positive values of

coefficients as
Q

Q

t

0

=

(A) K c
at

(B) aK t
at-

(C) e at-

(D) e at- 2
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60. gyMr–I H$mo gyMr–II go gw_o{bV H$s{OE :

gyMr–I gyMr–II

a. df© ^a n`m©· ^yOb
‡dmh Ho$ gmW ObYmam
‡dmh

1. A{Za®Va ObYmam

b. ObYmam ‡dmh {Og_|
df© Ho$ A{YH$mße g_`
nmZr ahVm h° bo{H$Z
H$^r-H$^r ~hZm ~ßX
hmo OmVm h°

2. ~mah_mgr ObYmam

c. ObYmam, {OgH$m H$moB©
_yb ‡dmh H$m `moJXmZ
Zht h°

3. AßVÖ‡dmhr ObYmam

d. ObYmam, Omo [agmd
Ho$ H$maU ^yOb _|
`moJXmZ H$aVr h°

4. AÎnH$m{bH$ ObYmam

5. ~{h ‡dmhr ObYmam

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma

Mw{ZEü&

(A) a b c d

2 5 3 4

(B) a b c d

5 4 1 3

(C) a b c d

3 4 5 2

(D) a b c d

2 1 4 3

61. ghr H$WZ H$mo nhMm{ZEü&

(A) nßIo Ho$ AmH$ma Ho$ ObJ´hU joÃ H$_

{eIa dmbo Am°a gßH$sU© hmBS¥>moJ´m\$

XoVo h¢ü&

(B) bJ^J AY©d•ŒmmH$ma AmH$ma Ho$ ObJ´hU

joÃ CÉ-{eIa Am°a gßH$sU© hmBS¥>moJ´m\$

XoVo h¢ü&

(C) bÂ~r ObJ´hU AmH•${V`m± CÉ-{eIa

Am°a Mm°ãS>m hmBS¥>moJ´m\$ XoVr h¢ü&

(D) bÂ~r ObJ´hU AmH•${V`m± CÉ-{eIa

Am°a gßH$sU© hmBS¥>moJ´m\$ XoVr h¢ü&

62. ^maV _|, EH$ _m°g_ gß~ßYr CnIßS> H$mo _‹`_

gyIo go ‡^m{dV _mZm OmVm h°, `{X Bg_| Hw$b

_m°g_r dfm© hmoVr h°

(A) gm_m›` _mZ Ho$ 25% go H$_

(B) gm_m›` _mZ Ho$ 25% go 49% Ho$

~rM

(C) gm_m›` _mZ Ho$ 50% go 74% Ho$

~rM

(D) gm_m›` _mZ Ho$ 75% go 99% Ho$

~rM

63. ~mãT> hmBS¥>moJ´m\$ H$s dmngr emIm H$mo JwUmßH$

Ho$ YZmÀ_H$ _mZm| Ho$ gmW Ï`∫$ {H$`m Om

gH$Vm h°, O°go
Q

Q

t

0

=

(A) K c
at

(B) aK t
at-

(C) e at-

(D) e at- 2
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64. The shape of the recession limb

of a hydrograph depends on

(A) base flow only

(B) basin characteristics only

(C) storm characteristics only

(D) basin and storm

characteristics both

65. The hydrological methods of

flood routing use

(A) equation of motion only

(B) continuity equation only

(C) energy equation only

(D) both momentum and

continuity equation

66. Match List–I with List–II :

List—I List—II

a. Rainfall

simulator

1. Increased peak

in flood hydro-

graph

b. Interception loss 2. Study of infiltra-

tion characteris-

tics

c. Urbanization 3. Not significant in

maximum flood

computation

d. Soil conservation

measures

4. Reduction in

peak in small

and medium

floods

Select the correct answer using

the codes given below.

(A) a b c d

2 3 1 4

(B) a b c d

2 1 3 4

(C) a b c d

4 1 3 2

(D) a b c d

2 3 4 1

67. For a watershed the USLE

computes

(A) annual runoff

(B) average annual peak

discharge

(C) soil erodability factor

(D) average annual soil loss

68. V-shaped gullies are developed

when

(A) velocity is high but runoff

volume per unit time is less

(B) velocity is less but runoff

volume is more

(C) flow velocity is less

(D) runoff volume is more

69. Particles, less than 0·1 mm

diameter, are moved by the

action of

(A) bed load

(B) surface creep

(C) suspension

(D) saltation

70. At stage III of gully development

(A) erosion is very heavy

(B) vegetation starts growing

(C) rill formation starts

(D) the gully is completely

established
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64. hmBS¥>moJ´m\$ H$s dmngr emIm H$m AmH$ma {Z^©a

H$aVm h°

(A) Ho$db _yb ‡dmh na

(B) Ho$db ~o{gZ H$s {deofVmAm| na

(C) Ho$db Vy\$mZ H$s {deofVmAm| na

(D) ~o{gZ VWm Vy\$mZ H$s {deofVmAm| na

65. hmBS¥>mobm∞{OH$b VarHo$ go ~mãT> AZw_mJ©U _|

ä`m Cn`moJ hmoVm h°?

(A) Ho$db J{V H$m g_rH$aU

(B) Ho$db gmßVÀ` H$m g_rH$aU

(C) Ho$db D$Om© H$m g_rH$aU

(D) XmoZm| J{V Am°a gmßVÀ` g_rH$aU

66. gyMr–I H$mo gyMr–II go gw_o{bV H$s{OE :

gyMr–I gyMr–II

a. dfm© {gÂ`wboQ>a 1. ~mãT> hmBS¥>moJ´m\$ Ho$ {eIa
_| d•{’

b. AdamoYZ hm{Z 2. AßVÖÒ`ßXZ {deofVmAm|
H$m A‹``Z

c. eharH$aU 3. A{YH$V_ ~mãT> JUZm _|
_hŒdnyU© Zht

d. _•Xm gßajU Ho$ Cnm` 4. N>moQ>r Am°a _‹`_ ~mãT> Ho$
{eIa (Ma_ gr_m) _|
H$_r

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$a ghr CŒma

Mw{ZEü&

(A) a b c d

2 3 1 4

(B) a b c d

2 1 3 4

(C) a b c d

4 1 3 2

(D) a b c d

2 3 4 1

67. dm∞Q>aeoS> Ho$ {bE USLE JUZm H$aVm h°

(A) dm{f©H$ Andmh H$s

(B) Am°gV dm{f©H$ {eIa ~hmd H$s

(C) _•Xm jaU H$maH$ H$s

(D) Am°gV dm{f©H$ _•Xm hm{Z H$s

68. V-AmH$ma H$s Zm{b`m± H$~ {dH${gV hmoVr h¢?

(A) doJ A{YH$ hmo bo{H$Z ‡{V BH$mB© g_`

_| Andmh H$s _mÃm H$_ hmo

(B) doJ H$_ hmo bo{H$Z Andmh H$s _mÃm

A{YH$ hmo

(C) ‡dmh doJ H$_ hmo

(D) Andmh H$s _mÃm A{YH$ hmo

69. 0·1 {_0 _r0 Ï`mg go H$_ Ho$ H$U, {H$g

‡{H´$`m ¤mam ÒWmZmßV[aV hmoVo h¢?

(A) ~oS> ^ma

(B) gVh na a|JZm

(C) gÒno›eZ

(D) gm∞ÎQ>ogZ (CN>b-Hy$X ZmM)

70. Jbr {dH$mg Ho$ MaU III _|

(A) H$Q>md ~h˛V A{YH$ hmoVm h°

(B) dZÒn{V`m± CJZo bJVr h¢

(C) [ab H$m {Z_m©U ‡maÂ^ hmo OmVm h°

(D) Jbr nyar Vah go ÒWm{nV hmo MwH$s

hmoVr h°
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71. Box-inlet drop spillways are

recommended for areas, where

(A) short crest lengths are

required

(B) down slope channel is wide

(C) water from a reservoir is to

be removed

(D) a long crest length on a

narrow channel is required

72. Contour farming is

recommended for lands with the

slope range of

(A) 0%–1%

(B) 2%–7%

(C) 7%–12%

(D) 12%–24%

73. The capacity-inflow ratio (CIR)

for a reservoir

(A) is constant over time

(B) increases with time

(C) decreases with time

(D) remains unchanged

74. Piping is the removal of soil

which is located

(A) on the side of the structure

(B) near the head wall

(C) below the foundation

(D) near the sill

75. Trap efficiency of a reservoir is

a function of the ratio of

(A) reservoir capacity to the

total annual sediment flow

volume

(B) reservoir capacity to the

total annual inflow volume

of water

(C) dead storage capacity to live

storage capacity

(D) dead storage capacity to

total annual sediment

inflow volume

76. Drainage coefficient is the rate

of drainage expressed as the

depth of water in centimetre

drained off from a given area in

(A) 1 hour

(B) 8 hours

(C) 24 hours

(D) 48 hours
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71. CZ joÃm| Ho$ {bE ~m∞äg-BZ≤boQ> S¥>m∞n pÒnbdo

H$s AZweßgm H$s OmVr h°, Ohm±

(A) N>moQ>r {eIm bß~mB© H$s AmdÌ`H$Vm hmoü

(B) ZrMo H$s Amoa T>bmZ dmbm M°Zb Mm°ãS>m

hmo

(C) {H$gr Obme` go nmZr {ZH$mbZm hmo

(D) EH$ gßH$sU© M°Zb na EH$ bß~r {eIm

H$s bß~mB© H$s AmdÌ`H$Vm hmoVr hmo

72. {H$g T>bmZ gr_m dmbr ^y{_ Ho$ {bE Hß$Qy>a

IoVr H$s {g\$m[ae H$s OmVr h°?

(A) 0%–1%

(B) 2%–7%

(C) 7%–12%

(D) 12%–24%

73. EH$ Obme` Ho$ {bE j_Vm-‡dmh AZwnmV

(gr0 AmB0 Ama0)

(A) g_` Ho$ gmW pÒWa hmoVm h°

(B) g_` Ho$ gmW ~ãT>Vm OmVm h°

(C) g_` Ho$ gmW KQ>Vm OmVm h°

(D) An[ad{V©V ahVm h°

74. nmBqnJ Cg OJh H$s {_≈>r H$m hQ>Zm h°, Omo

pÒWV h°

(A) gßaMZm Ho$ {H$Zmao na

(B) _wª` Xrdma (hoS> dmbm) Ho$ nmg

(C) Ztd Ho$ ZrMo

(D) {gb Ho$ nmg

75. {H$gr Obme` H$s Q¥>°n XjVm {H$ZHo$ AZwnmV

H$m EH$ \$bZ h°?

(A) Obme` j_Vm go Hw$b dm{f©H$ VbN>Q>

‡dmh _mÃm

(B) Obme` j_Vm go Ob H$s Hw$b dm{f©H$

AßVdm©h _mÃm

(C) _•V ^ßS>maU j_Vm go Or{dV ^ßS>maU

j_Vm

(D) _•V ^ßS>maU j_Vm go Hw$b dm{f©H$

VbN>Q> ‡dmh _mÃm

76. Andmh JwUmßH$ Andmh H$s dh _mÃm h° {Ogo

Ï`∫$ {H$`m OmVm h° nmZr H$s g|Q>r_rQ>a JhamB©

_|, {Ogo joÃ {deof go {ZH$mbm OmVm h°

(A) 1 KßQ>m _|

(B) 8 KßQ>o _|

(C) 24 KßQ>o _|

(D) 48 KßQ>o _|
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77. Drainage of one ha-cm in

24 hours is equal to drainage of

(A) 2 lps

(B) 1·57 lps

(C) 1·357 lps

(D) 1·157 lps

78. Hooghoudt’s equation for tile

drainage is based on

(A) Chezy’s equation

(B) Darcy’s equation

(C) Manning’s equation

(D) None of the above

79. A soil which has exchangeable

sodium percentage above 15 and

EC of the saturation extract

greater than 4 mmhos/cm is

called

(A) saline-alkali soil

(B) non-saline-alkali soil

(C) saline soil

(D) sodic soil

80. Herringbone pattern is seen in

(A) surface irrigation system

(B) surface drainage system

(C) tile drainage system

(D) None of the above

81. Which of the following methods

of surface drainage is most

suited to soils that need the

combination of surface and

subsurface drainage?

(A) Parallel open ditch system

(B) Random field ditch system

(C) Parallel field ditch system

(D) Bedding system

82. Alidade is used in

(A) compass survey

(B) plane table survey

(C) chain survey

(D) None of the above

83. The observed fore bearing of a

line CD is 208°37¢, its back

bearing will be

(A) 28 37° ¢

(B) 157 23° ¢

(C) 180°

(D) 237 14° ¢

84. Which of the following is not

a method of plane table

surveying?

(A) Intersection

(B) Traversing

(C) Reversing

(D) Radiation
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77. Mm°~rg KßQ>o _| EH$ hoäQ>o`a-go0 _r0 H$s

Ob-{ZH$mgr _____ H$s Ob-{ZH$mgr Ho$

~am~a h°ü&

(A) 2 brQ>a/goHß$S>

(B) 1·57 brQ>a/goHß$S>

(C) 1·357 brQ>a/goHß$S>

(D) 1·157 brQ>a/goHß$S>

78. ^y{_JV Ob-{ZH$mgr hoVw g_rH$aU, Omo {H$

hˇKmoC>Q> (Hooghoudt) ¤mam {dH${gV h°,

AmYm[aV h°

(A) MoµOr g_rH$aU na

(B) S>mgu g_rH$aU na

(C) _°qZJ g_rH$aU na

(D) Cn`©w∫$ _| go H$moB© Zht

79. dh {_≈>r, {Og_| {d{Z_o` gmo{S>`_ ‡{VeV

15 go D$na Am°a gßV•{· gma H$m EC

4 {_br_mo/go0 _r0 go A{YH$ hmoVm h°,

H$hbmVr h°

(A) bdUr`-jmar` ^y{_

(B) AbdUr`-jmar` ^y{_

(C) bdUr` ^y{_

(D) gmo{S>H$ ^y{_

80. ho[a®J~moZ ‡{VÍ$n XoIm OmVm h°

(A) n•>r` qgMmB© ‡Umbr _|

(B) n•>r` Ob-{ZH$mgr ‡Umbr _|

(C) Q>mBb Ob-{ZH$mgr ‡Umbr _|

(D) Cn`©w∫$ _| go H$moB© Zht

81. n•>r` Ob-{ZH$mgr H$s {ZÂZ{b{IV _| go

H$m°Z-gr {d{Y CZ {_{≈>`m| Ho$ {bE g~go

Cn`w∫$ h°, {O›h| n•>r` Am°a Cnn•>r` Ob-

{ZH$mgr Ho$ gß`moOZ H$s AmdÌ`H$Vm hmoVr h°?

(A) g_mZmßVa Iwbr Zmbr ‡Umbr

(B) a¢S>_ joÃ Zmbr ‡Umbr

(C) g_mZmßVa joÃ Zmbr ‡Umbr

(D) ~oqS>J ‡Umbr

82. Eo{bS>oS> H$m ‡`moJ {H$`m OmVm h°

(A) H$Ânmg gd}jU _|

(B) flboZ Q>o~b gd}jU _|

(C) MoZ gd}jU _|

(D) Cn`©w∫$ _| go H$moB© Zht

83. EH$ bmBZ CD H$m AJ´ {XH≤$_mZ 208°37¢
nm`m J`mü& BgH$m nÌM {XH≤$_mZ hmoJm

(A) 28 37° ¢

(B) 157 23° ¢

(C) 180°

(D) 237 14° ¢

84. {ZÂZ{b{IV _| go H$m°Z-gr flboZ Q>o~b gd}jU

H$s EH$ {d{Y Zht h°?

(A) ‡{V¿N>oXZ (B›Q>agoäeZ)

(B) MßH´$_U (Q¥>°de©Z)

(C) CbQ>md ([ad{g™J)

(D) {d{H$aU
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85. Radiation is a common method

of

(A) compass surveying

(B) plane table surveying

(C) topographical surveying

(D) None of the above

86. Centrifugal pump consumes too

much power due to which of the

following reasons?

(A) Pump speed is too high

(B) Head is lower than pump

rating

(C) Both (A) and (B)

(D) None of the above

87. The most suitable irrigation

pump to lift water from stream

or canal less than 2·5 m is

(A) propeller pump

(B) submersible pump

(C) centrifugal pump

(D) jet pump

88. The pump which works while

completely being under water is

known as

(A) diesel pump set

(B) centrifugal pump

(C) submersible pump

(D) None of the above

89. A suitable pump for drainage

pumping is

(A) submersible pump

(B) vertical turbine pump

(C) centrifugal pump

(D) propeller and mixed flow

pump

90. The stream size for furrow

irrigation usually varies from

(A) 0·1 to 0·5 liters/sec

(B) 0·5 to 1·0 liters/sec

(C) 0·5 to 2·0 liters/sec

(D) 0·5 to 2·5 liters/sec

91. By doubling the diameter of a

tubewell 10 cm to 20 cm, will

increase the yield of the well by

(A) 10%

(B) 20%

(C) 30%

(D) 40%

92. Difference between the static

water level and the pumping

water level is called as

(A) drawdown

(B) well log

(C) aquifer

(D) None of the above
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85. {d{H$aU EH$ gm_m›` {d{Y h°

(A) H$Ânmg gd}jU H$s

(B) flboZ Q>o~b gd}jU H$s

(C) ÒWbmH•${VH$ gd}jU H$s

(D) Cn`©w∫$ _| go H$moB© Zht

86. AnHo$›–r nÂn {ZÂZ{b{IV _| go {H$g H$maU

go ~h˛V A{YH$ D$Om© H$s InV H$aVm h°?

(A) nßn H$s J{V ~h˛V A{YH$ h°

(B) erf©, nßn aoqQ>J go H$_ h°

(C) XmoZm| (A) Am°a (B)

(D) Cn`©w∫$ _| go H$moB© Zht

87. Ymam `m Zha H$s JhamB© 2·5 _r0 go H$_ hmoZo

na nmZr CR>mZo Ho$ {bE g~go Cn`w∫$ qgMmB©

nßn h°

(A) ‡monoba nßn

(B) g~_{g©~b nßn

(C) AnHo$›–r nßn

(D) OoQ> nßn

88. EH$ nßn, Omo nyar Vah go Ob_æ hmoZo na hr

H$m`© H$aVm h°, H$hbmVm h°

(A) S>rOb nßn goQ>

(B) AnHo$›–r nßn

(C) g~_{g©~b nßn

(D) Cn`©w∫$ _| go H$moB© Zht

89. Ob-{ZH$mgr nßqnJ Ho$ {bE EH$ Cn`w∫$ nßn h°

(A) g~_{g©~b nßn

(B) D$‹dm©Ya Q>a~mBZ nßn

(C) AnHo$›–r nßn

(D) ‡monoba Am°a {_{lV ‡dmh nßn

90. Hwß$S> qgMmB© Ho$ {bE Ymam H$m ‡dmh Am_Vm°a

na hmoVm h°

(A) 0·1 go 0·5 brQ>a/goHß$S>

(B) 0·5 go 1·0 brQ>a/goHß$S>

(C) 0·5 go 2·0 brQ>a/goHß$S>

(D) 0·5 go 2·5 brQ>a/goHß$S>

91. EH$ Q≤>`y~dob Ho$ Ï`mg H$mo 10 go0 _r0 go

20 go0 _r0 VH$ XwJZm H$aZo na Hw±$E go

{ZH$bZo dmbo Ob H$s d•{’ hmoJr

(A) 10%

(B) 20%

(C) 30%

(D) 40%

92. pÒWa Ob ÒVa Am°a nÂnZ Ob ÒVa Ho$ ~rM

Ho$ AßVa H$mo H$hm OmVm h°

(A) ObmdVbZ (S¥>m∞S>mCZ)

(B) Hy$n gßboI

(C) ObXm`r ÒVa

(D) Cn`©w∫$ _| go H$moB© Zht



25/AGS/M–2023–05/15-A 28

93. Lysimeter is used to measure

(A) infiltration

(B) vapour pressure

(C) evaporation

(D) evapotranspiration

94. The net amount of irrigation is

12 cm and the field efficiency is

80%, the gross amount to be

applied to the field will be

(A) 10 cm

(B) 12 cm

(C) 15 cm

(D) 18 cm

95. A crop requires 4 cm of

irrigation water, if 5 cm of water

was applied to this crop, the

application efficiency will be

(A) 60%

(B) 70%

(C) 80%

(D) 90%

96. The major component of crop

water requirement is

(A) pre-sowing irrigation

(B) evapotranspiration

(C) leaching requirement

(D) deep percolation from crop

root zone

97. Maximum value of crop

coefficient ( )K c , amongst the

four distinct growth stages of

seasonal crops is during

(A) initial stage

(B) crop development stage

(C) mid season stage

(D) late season stage

98. Most widely used device for

measurement of evaporation

rate is

(A) USWB class-A pan

(B) tensiometer

(C) lysimeter

(D) hygrometer

99. The depth of flow over a sharp

crested rectangular weir should

not be more than

(A) half the crest width

(B) two-thirds of the crest width

(C) three-fourths of the crest

width

(D) the width of the weir

100. The principle of working of

a meter gate is

(A) free flow rectangular orifice

(B) submerged flow circular

orifice

(C) free flow circular orifice

(D) submerged flow rectangular

orifice
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93. bmBgr_rQ>a H$m ‡`moJ {H$gH$mo _mnZo Ho$ {bE

{H$`m OmVm h°?

(A) AßVÖ{ZÒ`ßXZ

(B) dmÓn Xm~

(C) dmÓnZ

(D) dmÓnmoÀgO©Z

94. qgMmB© H$s ew’ _mÃm 12 go0 _r0 h° Am°a

IoV H$s XjVm 80% h°, Vmo IoV _| Hw$b

qgMmB© H$s _mÃm {H$VZr hmoJr

(A) 10 go0 _r0

(B) 12 go0 _r0

(C) 15 go0 _r0

(D) 18 go0 _r0

95. EH$ \$gb H$mo 4 go0 _r0 qgMmB© Ho$ nmZr H$s

AmdÌ`H$Vm h°ü& `{X Bgo 5 go0 _r0 nmZr

{X`m OmVm h°, Vmo BgH$s AmdoXZ (EoflbrHo$eZ)

XjVm hmoJr

(A) 60%

(B) 70%

(C) 80%

(D) 90%

96. \$gb Ob AmdÌ`H$Vm H$m ‡_wI KQ>H$ h°

(A) ~wAmB© go nhbo H$s qgMmB©

(B) dmÓnmoÀgO©Z

(C) brqMJ AmdÌ`H$Vm

(D) \$gb Ho$ OãS> joÃ go Jham A›VÖÚmd

97. _m°g_r \$gbm| Ho$ Mma AbJ-AbJ {dH$mg

MaUm| _| go \$gb JwUmßH$ ( )K c H$m A{YH$V_

_mZ {H$g Xm°amZ hmoVm h°?

(A) Amaß{^H$ MaU

(B) \$gb {dH$mg MaU

(C) _‹` grµOZ H$m MaU

(D) Xoa go grµOZ H$m MaU

98. dmÓnrH$aU Xa _mnZo Ho$ {bE g~go Ï`mnH$ Í$n

go Cn`moJ {H$`m OmZo dmbm CnH$aU h°

(A) `y0 Eg0 S>„Î`y0 ~r0 äbmg-E n°Z

(B) Q>op›e`mo_rQ>a

(C) bmBgr_rQ>a

(D) Am–©Vm_mnr

99. {H$gr Vrd´ H´o$ÒQ>oS> Am`VmH$ma dr`a na ‡dmh

H$s JhamB© {H$ggo A{YH$ Zht hmoZr Mm{hE?

(A) H´o$ÒQ> Mm°ãS>mB© H$s AmYr

(B) H´o$ÒQ> Mm°ãS>mB© H$s Xmo-{VhmB©

(C) H´o$ÒQ> Mm°ãS>mB© H$s VrZ-Mm°WmB©

(D) dr`a H$s Mm°ãS>mB©

100. _rQ>a JoQ> Ho$ H$m`© H$aZo H$m {g’mßV h°

(A) _w∫$ ‡dmh Am`VmH$ma {N>–

(B) Ob_æ ‡dmh d•ŒmmH$ma {N>–

(C) _w∫$ ‡dmh JmobmH$ma {N>–

(D) Ob_æ ‡dmh Am`VmH$ma {N>–
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25/AGS/M–2023–05 nwpÒVH$m ˚m•ßIbm
CÂ_rXdma H$m AZwH´$_mßH$

‡ÌZ-nwpÒVH$m

H•${f A{^`ßÃU
nÃ—I

‡ÌZm| Ho$ CŒma XoZo go nhbo ZrMo {bIo AZwXoem| H$mo ‹`mZ go nãT> b|ü&

_hŒdnyU© AZwXoe
1. Bg ‡ÌZ-nwpÒVH$m  _| Hw$b 100 ‡ÌZ h¢ü&
2. g^r ‡ÌZm|  Ho$  AßH$  g_mZ h¢ü&
3. g^r ‡ÌZm|  Ho$  CŒma  X|ü&
4. narjm AmaÂ^ hmoVo hr Amn AnZr ‡ÌZ-nwpÒVH$m H$s Om±M H$a XoI b| {H$ BgHo$ D$na Xm`t Amoa ‡ÌZ-nwpÒVH$m H$s

˚m•ßIbm _w{–V h°ü& H•$n`m Om±M b| {H$ nwpÒVH$m _| aµ\$ H$m`© hoVw Xmo n•>m| (n•> gßª`m 30 Am°a 31) g{hV nyao 32 _w{–V
n•> h¢ Am°a H$moB© n•> `m ‡ÌZ Jm`~ `m {~Zm N>nm h˛Am `m \$Q>m h˛Am `m Xmo~mam Am`m h˛Am Vmo Zht h°ü& nwpÒVH$m _|
{H$gr ‡H$ma  H$s Ãw{Q> nmZo na VÀH$mb BgHo$  ~Xbo Bgr ˚m•ßIbm  H$s Xygar ghr nwpÒVH$m  bo  b|ü&

5. `{X {H$gr ‡ÌZ _| {H$gr ‡H$ma H$s H$moB© _w–U `m Vœ`mÀ_H$ ‡H$ma H$s Ãw{Q> hmo, Vmo ‡ÌZm| Ho$ AßJóOr VWm {h›Xr Í$nm›Vam| _| go
AßJóOr Í$nm›Va H$mo  _mZH$  _mZm Om òJmü&

6. Bg  n•>  Ho$  D$na {ZYm©[aV ÒWmZ _| AnZm AZwH´$_mßH$ AdÌ`  {bI|ü& ‡ÌZ-nwpÒVH$m na Am°a Hw$N>  Z  {bI|ü&
7. ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE AmnH$mo ‡ÌZ nwpÒVH$m g{hV CŒma nÃH$ {X`m Om òJmü& AnZo CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ

_| AnZm Zm_, AZwH´$_mßH$, ‡ÌZ-nwpÒVH$m ˚m•ßIbm VWm A›` {ddaU AdÌ` {bI| A›`Wm AmnH$m CŒma nÃH$ Om±Mm
Zht Om`oJmü&

8. CŒma nÃH$ Ho$ n•>-2 na {ZYm©[aV ÒWmZ _| AnZo AZwH´$_mßH$ VWm ‡ÌZ-nwpÒVH$m H$s ˚m•ßIbm A, B, C `m D O°gm Bg
‡ÌZ-nwpÒVH$m Ho$ AmdaU n•> Ho$ D$na Xm`t Amoa Aß{H$V h°, go gÂ~p›YV H$mo>H$ H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ
go AdÌ` Hy$Q>~’ H$a|ü& CŒma nÃH$ na ‡ÌZ-nwpÒVH$m ˚m•ßIbm Aß{H$V Zht H$aZo AWdm JbV ˚m•ßIbm Aß{H$V H$aZo na CŒma
nÃH$  H$m ghr _yÎ`mßH$Z Zht hmoJmü&

9. Bg ‡ÌZ-nwpÒVH$m _| g^r ‡ÌZ Am°a CZHo$ CŒma AßJ´oOr Edß {h›Xr _| _w{–V h¢ü& ‡À òH$ ‡ÌZ Ho$ Mma CŒmaçç(A), (B), (C) Am°a
(D) H´$_ na {X`o J`o h¢ü& CZ_| go Amn g~go ghr Ho$db EH$ CŒma H$mo MwZ| Am°a AnZo CŒma nÃH$ na Aß{H$V H$a|ü& `{X AmnH$mo
Eogm bJo {H$ {H$gr ‡ÌZ Ho$ EH$ go A{YH$ CŒma ghr h¢, Vmo Amn AnZo CŒma nÃH$ _| Cg CŒma H$mo Aß{H$V H$a| Omo AmnH$mo gdm}Œm_
bJoü& ‡À òH$ ‡ÌZ Ho$ {bE Ho$db EH$ hr CŒma MwZZm h°ü& AmnH$m Hw$b ‡m·mßH$ AmnHo$ ¤mam CŒma nÃH$ _| Aß{H$V ghr CŒmam| na
{Z^©a hmoJmü&

10. CŒma nÃH$ _| ‡À òH$ ‡ÌZ gßª`m Ho$ gm_Zo Mma d•Œm Bg ‡H$ma ~Zo h˛E h¢çç Am°a ü& ‡ÌZm| Ho$ CŒma XoZo Ho$ {bE
AmnH$mo AnZr ng›X Ho$ Ho$db EH$ d•Œm H$mo H$mbr/Zrbr Ò`mhr Ho$ ~m∞b-nm∞B›Q> noZ go {M{ïV H$aZm h°ü& ‡À òH$ ‡ÌZ Ho$ {bE
Ho$db EH$ CŒma H$mo MwZ| Am°a Cgo AnZo CŒma nÃH$ _| {M{ïV H$a|ü& Amn CŒma nÃH$ _| `{X EH$ ‡ÌZ Ho$ {bE EH$ go A{YH$ d•Œm _|
{ZemZ bJmVo h¢, Vmo AmnH$m CŒma JbV _mZm Om òJmü& CŒma nÃH$ _| CŒma H$mo {M{ïV H$aZo Ho$ {bE Ho$db H$mbr/Zrbr
Ò`mhr Ho$  ~m∞b-nm∞B›Q> noZ H$m  hr  ‡`moJ H$a|ü&  {H$gr  ^r ‡H$ma  H$m  H$mQ>-Hy$Q> AWdm n[adV©Z  _m›` Zht h°ü&

11. ‡ÌZ-nwpÒVH$m go H$moB© nfim \$mãS>Zm `m AbJ H$aZm _Zm h°ü& ‡ÌZ-nwpÒVH$m Am°a CŒma nÃH$ H$mo narjm H$s Ad{Y _| narjm ^dZ go
~mha H$Xm{n Z bo Om`|ü& narjm Ho$ g_mnZ na CŒma nÃH$ drjH$ H$mo AdÌ` gm¢n X|ü& CgHo$ ~mX AmnH$mo AnZr ‡ÌZ-nwpÒVH$m
AnZo gmW bo OmZo H$s AZw_{V  h°ü&

12. D$na Ho$ AZwXoem| _| go {H$gr EH$ H$m ^r nmbZ Zht H$aZo na Amn na Am`moJ Ho$ {ddoH$mZwgma H$ma©dmB© H$s Om gH$Vr h° AWdm
AmnH$mo X�S>  {X`m  Om gH$Vm h°ü&

13. A‰`Wu CŒma nÃH$ H$mo AnZr CnpÒW{V _| Self Adhesive LDPE Bag _| nyar Vah go n°H$/grb H$admZo Ho$ CnamßV hr
narjmH$j  H$mo  N>moãS>|ü&

Note : English version of the instructions is printed on the First Page of this Booklet.
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